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"BOJDIMENSIONERING ALLMANT

= . 11(186)
SPRICKVIDD LANGTIDSLAST K2
h—-x—-tg— ?
O simax = Os(X) O slmax = 267.7
d-x
A=25(h-d) B:= h ; X C:= 15 D=(A B C) def := min(D) def =422 mm
A=1113 B=42.2 c=2850
Kl - o A
Armeringsinnehall o i s or = 0.0144
b(h)-def
! k= 0.4 Langtidslast
i g 3
forc =180 Votofr = fom \ fiotp = 2.56 Simax =267.7  Eg=200x 10
| ‘ _fcteff'(l + OLspr'Pr) B
kt = 779
Pr
fcteff'(1 + O‘spr'Pr)
O slmax ~ Kt 6
Spricképpningstéjning €gmred = - Pr €gmred = 948.720 x 10
sk
-6
€ nred = if| Egmred < 0.6~ o g 2omax € cmred = 948.720 x 10
Egk Egk
Sprickavstand x1=1.2 |
= tg k1= %1 k=05 k= 7-?—S kg = 0.425
. c
c=40 k=12 ky = 1.58
bs=9 Srm = k3-¢ + ky-kp- AL Sim = 222.7 mm
Pr
5-(0 + %j =222.5 1.3:(h-x)=164.4
Sim = if{s > 5{0 + %} ,1.3-(h - x), Srm:| Spm = 222.7 mm
‘ M=18 M=11
Sprickvidd gcs =0 Wk = €smred Stm
Wkl = if((fcluk 2 O,Wk,O) Wk1=021 1 mm




